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1. The coefficient of x8y®z* in the expansion of (x + y + 2)'8, is not equal to

18C6 X 14—C6
a) '8C14 x MCq b) 8C10 x 1°Ce c) 8Ce x 2Cq d)
2. The coefficient of x* in the expansion of (1 + x + x? + x3)11, is
a)900 b)909 c) 990 d) 999

3. Ifthe sum of the coefficients in the expansion of (1 — 3 x + 10 x%)" is a and if the sum of the

coefficients in the expansion of (14 x?)"is b, then

d) None of these

a)a=3b b)a = b3 A)b=a’
4. Fornm€N,10"2>81nis
>8
a)n>5 b)n=>5 On<s "

5. The first 3 terms in the expansion of (1 + ax)™ (n # 0) are 1, 6x, and 16x2. Then, the value of a
and n are respectively

a)2 and 9 b)3 and 2 2 and 6

¢)Zand 9 d)>

6. If the binomial expansion of (a + b x) % is % —3x + .., then (a,b) =

a)(2,12) b) (2, 8) (=2 —12) d) None of these

15
In the expansion of (x4 — %) , the coefficient of x3%, is
X

a) 1365 b) —1365 c) 455 d) —455
8. For natural numbers mnif (1 —y)™(1 +y)" =1+ a;y* + ...and a; = a, = 10,
then (m,n)is



10.

11.

12.

13.

14.

15.

16.

17.

a) (35,20) b) (45,35) c) (35,45) d) (20,45)
If a1,a;3,a3,a4 are the coefficients of any four consecutive terms in the expansion of (1 + x)",

ai as .
then ;——=+ —-isequal to
ap 1 ap 2(12 2(13
a P —— C d
a + as 2 (az + as) a + as a, + as

If the sum of the coefficient in the expansion of (a?x? —6ax + 11)'°, where a is constant is
1024, then the value of a is

a)5 b)1 0)2 d)3

n
If %" occurs in (x + —2) , then n — 2r must be of the form
X

3k + 2
a)3k—1 b) 3k )3k +1 R
(23" —1) will be divisible by (vVn € N)

a) 25 b)8 Q)7 d)3

If the sum of the coefficients in the expansion of (a x* — 2x + 1)35 is equal to the sum of the
coefficient in the expansion of (x — a )%, then a =

a)o b)1 c) Any real number d) None of these

X— x— 10
If the ninth term in the expansion of {31°g3 V25T 4 g=1/8logs (5 1+1)} is equal to 180 and

x > 1, then x equals

a) 10g10 15 b) logs 15 C) loge 15 d) None of these

The coefficient of x> in the following expansion Y100, 100¢ (x — 3)100—m. om g
a) 1°¢,, b) 190Cs, Q) — 100¢q, d) — 19°C ;00

The coefficient of the middle term in the binomial expansion in powers of x of (1 + ax)* and of
(1 — ax)® is the same, if a equals

5 10 3 3

a) —— b)— c) —— d =

) 3 ) 3 ) 10 ) 5

10
The term independent of x in the expansion of (\/;E + %) will be

3
a) 5
b)5

4



18.

19.

20.

5
C)—
) 2
d) None of these
If (1+x—2x3)% =1+ ayx + ax?® +.. + a;ox'?, then the value of a; + a4 +... + a2

Is
a)31 b)32 c) 64 d)1024

IF(1+x—3x) "0 =1 4 a1x + apx? +... + azox?°, then az + a4 + ag +... + azis equal to

)31°+1 b)39+1 )310—1 d)39_1
a c 2
2 2 2
If (14 x)?"=ag + a; x + a; x* +... + a;,x*", then
(ap—az + as—ag+ ... — az)?* + (a1 - ag + as — a7 + ... + azn_1)* is equal to

a) 2" b) 4" )0 d) None of these



